O A R A

B

Candidate’s Roll Number/ 3tsaeff @t 37 701

Series :

TEST CODE : 3/2018
Category No. : 3

zlojg3ltjals] | ]

Time allowed ; 1 Hour 30 Minute

37afe ; 1 "y 3t 30 fime '

Total Questions : 100
S WRF : 100

T pe (Malle )

HSSC -

Maximum Marks : 80
27fereRdy 37 : 80

1. Attempt all the questions. Every question has equal marks viz. 0,80,

2. Before attempting the question paper kindly chack -that this
booklet has total 16 pages and OMR Answer Sheet consists
of three coplies. At the start of the examination and within first
five minutes, candidates are advised to ensure that all pages
of test booklet and OMR Answer Sheet are properly printed and
test booklet is not damaged in any manner. Serial No. and Series
of OMR Answer Sheet and Test Booklet match with each other.
In case of any discrepancy, the candidate should immediately
report the matter to the invigilator for replacement of test
booklet and OMR Answer Sheet. No claim in this regard will

be entertained after five minutes of start of examination.

3. Do not forget to write roll number on the top of this question
booklet and OMR Answer Sheet. :

4. Do not tear or fold any page of the question booklet and OMR
Answer Sheet.

5. Candidate must bring legibly printed Admit Card with recent
coloured photo pasted on it at mark B duly attested by
Gazetted Officer and one identity proof with photo like
Driving License, Voter Card, Aadhar Card, Passport etc.
at the' Examination Centre failing which candidate wil not

~ be allowed to take the examination.

6. Candidates are advised to make sure to fill the correct name,
Roll No. and test booklet code on the OMR Answer Sheet. If
the space for the Booklet Code s left blank or more than one
booklet code is indicated therein and non filling of name and
Roll No. as per instruction, it will be deemed to be an incorrect
booklet code and Answer Sheet will not be evaluated. The
candidate himself/herself will be solely responsible for all the
consequences arising out of any error or omission in writin
the test booklet code. Candidate shall put his/her LTI (Male
and RTI (Female) on attendance sheet, on the OMR Answer
Sheet and on the Biometric Machine along with signature.

7. Candidate should put his/her signature and thumb impression

i | in th e of Invigil
%ntg%eﬂ%mng%% :ﬂ a!ﬁgp_n_as‘aﬁ in the presence of Invigilator

8. Candidates are warned not to fold or make any stray
marks on the OMR Answer Sheet. Use of Eraser, Nali,
Blade, White Fluld/Whitener etc., o smudge, scratch or
dama?a In any manner on the OMR Answer Sheet during
Examination Is strictly prohibited. Candidature and OMR
Sheet of candidates using Eraser, Blade, Nall or White
Flulds/Whitener to smudge, scratch or damage In any
manner, shall be cancelled.

9. Incase of any discrepancy between the English and Hindl
. versions of ur'}y uestion, the English version will be
treated as fina autt']-nent!c.

DO NOT OPEN

KINDLY READ THE INSTRUCTIONS BEFORE ATTEMPTING THIS QUESTION PAPER
: IMPOHTAN;ﬁ INSTE?RL%C;IONS FOR THE cn;g::;_gmss
39 U9 -TS I TA 4 R RIAEER]
syt & fero fav o

1. S T S Bl o, 3 el e & o Fuffia s Em i 0.80 21

2. WA I BN A § ot FT A o 13 et 16 72 3
H OMR I w1 off S arett 81 i Hee 2 & B
e T B € e fie % o gfrm aR @ f s gfee
FROMRIMTFFafiTs s=oiaeadd _ _ . | L

7 ® iR g@ et oft werm @ erfa e ot @) T

OMR 3 73 U4 %2 qaie (&) &
faett oft srarm ot fereimie v ST o aveff v
w1 heflers 3§ e gwere sk oMA 3w ENV, SLNO: 1
WF FEaa] o1 =T | wWisn WHd BH
ta fime e e firerar w fem @ ROLL NO: 310
fram o)
3. 7@ 7fe 3K OMR 3w v 7w amn  NAME
e T for@ 7 ot |
4, TA-Y& 3R OMR 3% e % et it s Father Name:
F A FE FAAE | v
5. snarfial 1 voe weE W-wAmg, L ————

sﬁmgm%imﬁit@mm&amm:mm@
=y | 5% rfafaa B @ gon o whem-m, S
AFA, FATA TREI-T, IR FE, T I wE
Gle-5 TR A & | §6 7 2R W SRt @y wher 23 6
argafa = et

6. srenfii v § s @ B S gfRieE = S 2R OMR 3T
A AW, U9 4. 30 2 g FE 7 w0 B AR e & R R
TR T W DYl S 8 41 0 W e qreie A forw few e 2
ﬁan@nmmﬂawqéﬁm%ms%mﬁﬁ%ﬁwww
TS T ST A 3T -6 5 eI e et S| e e e
fere 3 el ft e o 3fe g 8 et et ) it 28 e
% for Fearfl & geu-3rameff 3 A Ty & Sh w8 ot wfgen-
It 3T = ET T I ITFET T T, OMR 371 T,
o iR Tl i A ol sfem wm o w0 |

7. wle-gie | Titdiers 1 39feafa § st 5 v -vw w2
A g w0 # 3it oh & Pom 3 @) .

NOT OPEN THE SEAL UNTIL INSTRUCTED TO DO SO./ Wl e %gT 7 WY, Hiet 7 wrei |

(Read the instructions on last page of this booklet.)

(s -gfeea & 3ifow ywe 4§ fo gu w1 0% 1)



3/2018 (3)
1.

are meant to enter the data and to
receive output from the main computer, as
they cannot process data on their own.
(A) Dumb terminals /
(B) General purpose terminals
(C) “Job oriented terminals
(D) All of the above '

Surdas is regarded as having taken his
inspiration from the teachings of great
saint

(A) Ramdas

(B) Haridas

(C) Chaitanya

(D) Vallabhacharya

]
5 ..\
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Given |x -1} > 5 then

(A) xe(-4,6)

(B) xe[-4,6]

(C) xe(—o, —4)uU (6, x)
(D) x €& (=»,-4]U[6, =)

Assembly language program is converted
to object code in machine language using
(A) Decoder (B) Debugger

(C) Compiler (D) Assembler

Everybody in a room shakes hands with
everybody else. The total number of
handshakes are 66. The total number of
persons in the room is
(A) 11
(C) 13

(B) 12
(D) 14

built a palace in Narmnaul
who was the Diwan of Mughal emperor,
Shahjahan.

(A) Birbal

(B) Rai Mukund Das

(C) Rai Madhav Das

(D) None of the above

. Kalaam-e-Nairang is a compilation of poetry
written by
(A) Syed Ghulam Bhik
(B) Murari Lal Sharma
(C) Allama Muhammad Igbal
(D) Altaf Hussain Hali
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8. Surajkund International Crafts Mela, a
colourful traditional craft festival of India will
be held every year during the month of

10.

11.

12.

13.

14.

15.

(C) George

(A) January «(B) February
(C) March (D) April

Five years ago, Nuri was thrice as old as
Sonu. 10 years later Nuri will be twice old
as Sonu. Find the present age of Sonu.
(A) 20yrs. (B) 10yrs.

(C) 12yrs. (D) 15 yrs.

In a photograph, Shyam is to the left of
Madan, Mary is to the right of George,
Karim is in between Shyam and Mary. Who
is at the corner ?
(A) Shyam (B) Mary
(D) Karim

Wimbledon Tennis Tournament being
held every year in which of the following
countries ? '

(A) U.S.A.

(B) Australia

(C) England

(D) None of the above

The Amendr:nem Act which made that
Council of Ministers shall not exceed 15%
of the total members of the House of the

people
(A) 89 (B) 91
(C) 62 (D) 93

2019 Pravasi Bharathiya Divas will be held
in

(A) Lucknow

(B) Varanasi

(C) Uijjain

(D) None of the above
Which of the following is a mathematical
statement ?

(A) xis a real number
(B) switch off the fan

(C) 6 is a natural number
(D) letme go

In stomach, the
proteins into peptides.
(A) Diastase

enzyme converts

(B) Maltase

(C) Urease (D) Pepsin
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16. If f (x) = cos®x + sec?x then
(A) f(x)<1 B) f(x)=1
(C) 1<f(x)<2 (D) f(x)=2

17.

18.

19.

20.

21.

Which of the following is not correct ?
(A) sind="Y%  (B) cosd=1
(C) secb= % (D) tan® =20

A heritage museum in is the only
surviving steam loco shed in India and
houses some of India’s last surviving steam

- locomotives.
(A) Bhiwani (B) Rewari
(C) Jind (D) Kurukshetra

India’s longest tunnel recently opened in
(A) Jammu Kashmir

(B) Punjab

(C) Haryana

(D) None of the above

Inthe series,64122874215386217

14 4 3 286 how many pairs of successive .

numbers have a difference of 2 each ?
(A) 4 (B) 5
(C) 6 (D) 7

Two identical capacitors 1 and 2 are
connected in series to a battery as shown
in figure. Capacitor 2 contains a dielectric
slab of dielectric constant K. Q, and Q,
are the charges stored in the capacitors.
Now the dielectric slab is removed and
the corresponding charges are Q' and Q,
then

i

Q, K+1 Q; _K+1
e =2_27
(A) Q- K (B) Q, 2

Q, _K+1 Q, K
(©) Q, 2K (O) Q2

¥ 2.
s 1111111

16. M f(x) = cos?x + sec

B) f(x)=1
D) f(x)= 2

(A) f(x)<1
(C) 1<f(x)<2
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18.

19.

20.

21.
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. 1< X <
(IO O 7<3
22. LetP(n):2n+1<2"\Nne€ N then n is
(A) =3 ~(B) =2
(C) =3 (D) =4
23. was the founder of Vardhana

dynasty.

(A) Harshavardhana
(B) Vishnuvardhana
(C) Pundravardhana
(D) Pushpabhuti

24. If A and B are two sets, then An(AUB) =
(A) A (B) B
< ¢ (D) AnB

25. dance is performed during the long
wait for the bridegroom to bring his new
bride home.
(A) Dhamal (B) Rasleela
(C) Gugga (D) Khoria

26. South Asia’s first Ro-Ro ferry service
recently inaugurated by Prime Minister in
which of the following States ?

(A) Maharashtra

(B) Guijarat

(C) Andhra Pradesh
(D) None of the above

27. The Article of Indian Constitution which lays
down some Directive Principles of State
Policy on Promotion of International Peace
and Security is
(A) Article 58
(B) Article 68
(C) Article 51 ,

(D) None of the above

28. Which of the following is not a National
Identity ?
(A) Saka era calendar
(B) Gangetic Dolphin
(C) Asoka tree
(D) None of the above

29. Spreadsheet files are generally stored with
an extension
(A) .doc (B) .xsl
(C) .xcl (D) .xls
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30.

31.

32.

33.

34.

35.

36.

Section 360 of IPC deals with
(A) Kidnapping

(B) Theft

(C) Murder

(D) None of the above

. Who is famous with the name of Haryana

Kesari ?

(A) Pt. Neki Ram Sharma

(B) Devi Lal

(C) BansilLal

(D) Bhagwat Dayal Sharma

If '+’ means —', ~ means ‘+, ‘x’ means +, '+’
means ‘x’ then value of 5-35+5+40x 10
is equal to

(A) 20 (B) 140

(C) -20 (D) none of these

was the first Regional Party of
Haryana.
(A) Haryana Janhit Congress
(B) Janata Dal
(C) Vishal Haryana Party
(D) Indian National Lok Dal

is the first State in the country to have
launched a web portal-based Centralised
Public Grievances Redress and Monitoring
System.
(A) Uttar Pradesh
(C) Punjab

(B) Karnataka
(D) Haryana

Pasteurization is a

(A) Low temperature treatment

(B) Steaming treatment

(C) High temperature treatment

(D) Low and high temperature treatment

Alhad Bikaneri was a renowned Hindi and
Urdu poet of

(A) Shringarras

(B) Hasyaras

(C) Shaantaras

(D) None of the above

O
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37. Which one of the following is a purpose of
‘Project Tiger ?
(A) Killing of Tigers
(B) Protecting Tigers from illegal killing
(C) To make films on Tigers
(D) Putting Tigers in zoo

38. Operating system is a type of
(A) Application software

(B) Utility

(C) System software

(D) Language processor

39. A survey shows that 63% of the people
watch a news channel where as 76 % watch
another channel. If x % of the people watch
both the channels then

(A) x=35 (B) x=63

(C) 39<x<63 (D) x=39

Name the flat bone on the ventral midline
of thorax. -

(A) Coccal (B) Sacrum

(C) Femur (D) Sternum

Protein present in cow’s milk is
(A) Zein (B) Lactalbumin
(C) Casein (D) Albumin

There are 36 cows in a herd. 20 are white
_ 28 are brown. How many have both the
~ “colours ?

(A) 12

(C) 16

a.
42.

(B) 10
(D) 14

Lone district of Haryana that does not share
its boundaries with any of the States or
Union Territory is
(A) Sonipat

(C) Sirsa

The Parliament of Japan is called _
(A) Diet (B) Parliament
(C) Bundestag (D) Duma

Cocaine is obtained from the plant
(A) Erythroxylum coca

(B) Papaver somniferum

(C) Cannabis sativa

(D) Hibiscus rosasinensis

(B) Rohtak
(D) Jind

3/2018 (3)
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46. The Directive Principle of State Policy
underline philosophy of
(A) Socialism
(B) Idealism
(C) Sarvoday
(D) Democratic centralisation

Choose the correct option to complete the
matrix. :

40 160
80 5
20 40

(A) 360 (B) 120
(C) 140 (D) 80

‘People who are bald are generally of the
intellectual type.

Arunis bald. .

Therefore Arun is intellectual.

Choose the correct option.

(A) True (B) Probably true
(C) False (D) Can't say

Tomb of , who was South Asia’s first
female monarch is in Kaithal, Haryana.
(A) Rani Padmini

(B) Raziya Sultana

(C) Noorjahan

(D) None of the above

1 1 X
f —+—=— thenx=

6l 71 8l
(A) 56 (B) 64
(D) 80

(C) 78

Which one of the following is not true about

Rigveda ?

(A) Itis the earliest Veda.

(B) It is complied between 1000 to 1500
BCE.

(C) It consists of hymns Praise of Agni,

Indra and Soma.

(D) Itis a Veda of Melodies and Chants.

In a flowchart rhombus symbol is used for
(A) Decision making

(B) Input output operation

(C) Startand end the program

(D) Off page connector
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53. Which term of the sequence 2, 2\2, 4. ..
is 128 7
(A) 12
(C) 14

(B) 13
(D) 15

The width of a single slit if the first minimum
is observed at an angle 2° with a light of
wavelength 6980A° is

(A) 2x10°mm (B) 0.02 mm

(C) 0.2mm (D) 2mm

feature of objectoriented programming
allows you to hide the required data.
(A) Polymorphism
(B) Inheritance

- (C) Abstraction

~(D) Encapsulation

e

&

56. Present Chairman of National Commission
for Women (NCW)

(A) Arundathi Bhattacharya

(B) Snehalatha

(C) Lalitha.Kumaramangalam

(D) None of the above

As per 2011 census, Haryana ranks
among the States in terms of population.
(A) 1= (B) 10

(C) 18" (D) 27"

Aruna ranks twelfth in a class of forty-six.
What will be her rank from the last ?

(A) 38 (B) 34

(C) 35 (D) 36

Which port allows data transmission in a
daisy chain upto 7 devices at a very high
speed ?7

(A) USB

(C) Parallel port

Indian saltpetre is
(A) NaNO, (B) KNO,
(C) SbNO, (D) BINO,

Find two consecutive odd positive integers,
the sum of whose squares is 290.
(A) 9,11 (B) 11,13
(C) 10, 11 (D) 13,15

(B) Serial port
(D) SCSI

An= at@m-nNe '

53.

54.

55.

56.

57.

58.
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62. President's rule was firstimposed on Haryana
in
(A) 1966 - (B) 1967
(C) 1971 (D) 1975

63. Pritam Rani Siwach is associated with
which of the following sports ?
(A) Cricket (B) Hockey
(C) Badminton (D) Boxing

64. Which of the following allows you to create
a derived class that inherits properties from
more than one base class ?

(A) Multilevel inheritance
(B) Multiple inheritance
(C) Hybrid inheritance

(D) Hierarchical inheritance

65. In 2000, Aswini Chowdhary won the Indira
Gandhi Award for Best Debut Film of a
Director at the National Film Awards for the
Haryanvi film
(A) Dhakad Chhora
(B) Laado
(C) Phool Badan
(D) Jatani

66. is the space left on one side for’

stitching and binding.
\ (A) Justify
- (C) Guitter

(B) Bullet
(D) Portrait

'67. The Summit which produced convention
dealing with climate change, biodiversity,
forestry and recommended a list
of developmental practices known as
‘Agenda 21’ is
(A) Nairobi (B) Doha
(C) Johansburg (D) Rio de Janeiro

~ 68. Sahibi river was called as
Vedic period.
(A) Karnavati
(B) Kumudvati
(C) Saraswati
(D) Drishadvati
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69.

70.

1.

72.

73.

74.

75.

In 1966. Punjab Reorganisation Act divided
Punjab and transterred territory to the then
Union Territory

(A) Haryana

(B) Himachal Pradesh
(C) Delhi

(D) Punjab

Music of Pandit Jasraj belongs to which of
the following Gharanas?

(A) Kirana (B) Agra

(C) Gwalior (D) Mewati

. Which of the following writs is issued by an

appropriate judicial body.in-order to free a
person who has be legally detained ?

(A) Quo warranto

(B) Mandamus
(C) Certiorari
(D) Habeas Corpus

Which of the following is correctly matched ?
(A) Karoh peak — Shivalik hills

"(B) Dhansi hills — Momi hills

(C) Mewat hills — Aravali hills
(D) Ghaggar-Hakra — all season river

Chairman of National Human Rights

Commission must be :

(A) Retired Chief Justice of High Court

(B) Retired Chief Justice of Supreme
Court

(C) Retired Judge of Supreme Court

(D) None of the above 4

Which of the following poet is regarded as
the John Milton of Haryana ?

- (A) Kashmiri Lal Zakir

(B) Altaf Hussain Hall
(C) Dayachand Mayna
(D) Samartha Vashishtha

Pollen grains are well preserved as fossils
due to the presence of

(A) Germpores

(B) Sporopollenin

(C) Intine

(D) Microspore mother cell
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76.

78.

79.

80.

While appointing the Prime Minister the

President selects

(A) Leader of the largest party in Lok
Sabha

(B) Leader of the largest alliance in Lok
Sabha

(C) Leader of the majority party or alliance
in Lok Sabha

(D) Leader of the majority party or alliance
in Rajya Sabha

If the sum to n terms of an A.P. is
S, = 3n + 2n?, then the common difference
of the A.P. is

(A) 3 B) 2

(C) 6 (D) 4

The type of cultivation which is also called
as ‘Slash and Burn’ agriculture

(A) Shifting cultivation

(B) Mixed farming

(C) Sedentary cultivation

(D) Plantation farming

Indian Institute for Horticultural Research
is based in

(A) Madras

(B) Bangalore

(C) Kochi

(D) None of the above

According to Einsteins photoelectric

equation, the plot of the kinetic energy

of the emitted photoelectrons, from a

metal versus the frequency of the incident

radiation gives a straight line whose slope

(A) Depends on the nature of the metal
used

(B) Depends on the intensity of the
radiation

(C) Depends both on the intensity of the
radiation and the metal used

(D) Is the same for all the metals and
independent of the intensity of the
radiation

-12-

O

76. wurEi R PgRFEETEA

77.

78.

79.

80.

g EI

(A) a3 gETH aa % AT

(B) e 3 W TS I A

(C) i1 i T 7l AN TS AT

~ (D) nmmﬁagqﬂaamnaa’mmﬁm

uﬁ@mauﬁ%?nqé’mz?ms =3n +2m?

2, ﬁ@%ﬂﬁma‘mﬁ%m%s"SH
@) 8, gonie 18} B, =it

a ':."-
AP S S
YR & FEd & 7
(A) TR FHY

AC) =t Ffy

(D) ST F

Wt AT e weE _ #
fBme |

(A) wEH

~(B) TR

(C) ==t

(D) 3% H & I3 el

ST i T g wefie % o1gER,
T YT ¥ IeAII BIRIgaael sl Mo Sl
A, wﬁamﬁmﬁf%aﬁaﬁ
Hief T < 8, e g E- »mC
(A) e HTg ot Wepfd W fsft @

(B) Tertor <t eaT Tt fanft R

_C) WG uTg <t Wehfer S fabor Y et
T /e wwEr g

(D) |+ft argadt & e wmE R ok o
TEaT © WaT &



O O

g81. Milk sugaris
(A) Lactose

(C) Fructose

~(B) Maltose
(D) Sucrose
Sucrose is

(A) Monosaccharide

(B) Disaccharide

(C) Polysaccharide

(D) None of these

82.

In C++,C_,and C,_ are
(A) functions (B) classes
(C) objects (D) member

Ghaggar-Hakra river basin is classified in
two parts, where the higher area that is not
flooded in rainy season is called

(A) Khadar (B) Bangar

(C) Kalar (D) Banjar

If 25 is divided by 13, then remainder is
(A) 1 (B) 3
(C) 12 (D) none of these

He was the first Prime Minister of Pakistan
and his birth place was Karnal, Haryana.
Who is he ?

(A) Sir Khawaja Nazimuddin

(B) Mohammad Ali Bogra

(C) Chaudhury Mohammad Ali

(D) Liaquat Ali Khan

In an examination, a student scores 4 marks
for every correct answer and loses 1 mark
for every wrong answer. If he attempts all
75 questions and secures 125 marks, then
the number of questions correctly, is
(A) 35 (B) 40

(C) 42 (D) 46

Rajiv Gandhi Thermal Power Station is
located at

(A) Kalayat

(B) Pundri

(C) Bahadurgarh

87.
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English Language

Select the sentence which is gramatically wrong :

89. .A{A) | am waiting here since morning.
(B) He returned from London last March.
(C) Take care that you are not cheat.
(D) 1 went to Mumbai recently.

90. AA) He had gone to the pictures last night.
(B) The man complained that his cycle
had been stolen.
(C) 1 will come if you invite me.
(D) He will certainly pass the test.

Use correct question tag for the following
sentences :

91. Don't be late
(A) Will you ?
~(B) Doyou ?
(C) Don'tyou?
(D) Won't you ?

92. Let’s go out tonight
(A) Shan'twe ?
(B) Will you ?
(C) Shall we ?
AD) Canwe?

Fill in the blanks with appropriate preposition :

what you

93. You must be content
have.
(A) at
AB) for
(C) of
(D) with

94. | hope to finish the work new years

day.

(A) in
AB) on
(C) by
(D) at

0.0 00 O T
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. Candidates are warned not to carry handkerchief, any mobile

phone, any type of watch, belt, wear ornamen ts like ring, chaln,
earring etc. electronic or communication device, Pen, Pencil,
Eraser, Sharpener and Correcting Fluid in the examination centre.
If any candidate is found possessing any such item, he/she will
nol be allowed to enter in the examination centre. Candidate
found possessing mobile phone or any other aiding material
as mentioned above in the examination room will be treated
a serious violation and it will amount to cancellation of the
candidature and debarring him/her from future examination.

. The written examination will be supervised by doing frisking

before allowing entry into Examination Centre, using CCTV
Cameras, Biometric Attendance process by capturing the
Biometric thumb impression and photograph of the candidates
during Examination. Videography and Jammers etc, shall be used
in the Examination Hall/Examination Centre to stop copying and
impersonation etc.

. Candidate's request to change the examination centre and seat

in the Examination Hall shall not be entertained.

. The scanned photograph of the candidate on his/her Admit

Card or attendance sheet will be tallied with the candidate
appearing in the examination by the invigilator. In the event of any
discrepancy in the identification and verification of the candidate
and photographs, the candidate shall not be allowed to sitin the
examination and be liable for criminal prosecution.
14. The OMR answer sheet consists of three copies, the original
copy, the commission copy and the candidate's copy. Do
not separate or displace them. Do not darken the bubbles in
three copies of OMR Answer sheets separately. Candidate
must handover the OMR Answer sheet without separating
the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate's copy after separating
it. The candidates are allowed to take away this Test Booklet
with them.
Each question has four alternative answer of which only one Is
correct. For each question, darken only one circle, which ever
you think is the correct answer on the OMR answer sheet with
only Blue/Black Ball Pen provided by the Commission.
Pencil should not be used for darkening the circle. if more
than one circle is found darkened, that answer will not be
evaluated.

15.

. No candidate shall be allowed to go to the toilet/washroom during

first and last thirty minutes of the examination.

. No candidate will be allowed to leave the OMR Answer sheet biank.

If any OMR Answer sheet is found blank, it shall be crossed by‘ma
invigilator with his/her signature and mentioning “Cancelled” on it.

. The answer sheet will be evaluated through electronic scanning

process. Incomplete or incorrect entries may render the answer
sheet invalid.

. Carefully fill in all the necessary particulars on the answer sheet.

Change of answer sheet is not permitted.

. While darkening the appropriate bubble(s} in the boxes darken

the chosen bubble(s) fully as given below. If you darken more
than one circle, your answer will be treated as wrong and such
answer shall not be evaluated.

10.

11.

12.

13.

14.

15.

18.

174

18.

19.
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. Ifacandidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall
take action as per Instructions and In addition can also debar
the candidate from appearing in the Examination, to be held in
future and can also file criminal proceedings.
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